alilel
Sjhalre parts callogue

Pheumatc Seea@lr Ar 16

Thomas Hatzenbichler Agro-Technik GmbH OPICO LIMITED
Fischering 2, A-9433 St. Andri South Road, Bourne, Lincs, PE10 9LG “1 !
Tel: +43 (0) 4358/2287 Tel.: 01778 / 42 11 11 — Fax: 01778 / 42 50 80

Fax: +43 (0) 4358/2208
E-mail: agrotechnik@hatzenbichler.com
www.hatzenbichler.com

E-mail: ask@opico.co.uk — www.opico.co.uk



1. EC Declaration of Conformity ... 2
2. Safety INfOrmation.......coccuiiuiiciiiiciic e 3
3. INtENARA USE ...ttt 4
4. ACCIAent PIEVENTION ....c.cuvveirieiririeirirerirer ettt 4
5. Germination reqUIremMeNts .........cccvuiiiniiiiniiiic s 5
6. WATTANLY oo 5
7. Installation INSTIUCHIONS ..c.c.cvoviiciiiriiicier e 6
8. Note fOr the OPeration ......c.cceveecuiiririnccierrc et 9
9. Work at the fleld ...t 12
10. Before starting WOIKING .........cccceurericeirininiceiniitceesecieseeseesereseeseeesesesseeaesesessenes 12
11. Care and MaINtance ........ccoeeceurerenecieininieeeteeteeese st seesesesesesesseseecsesesseseacsesesseaes 13
12. StOrage in WINLET .....coviviviviiiiiiicicicccc b 13
13. Turn off the agitator Shaft ........c.ccovevieeirrincccccc e 14
14. Spare parts catalogue fOr Air 16 .......ccccvrvicciririniceierecerree e 15
15. Manual On-Board COMPULET ........ccccueuririnecuciriinicieieiniecieseeseesereseeseecsesesseseaeseseesencs 34

Page 1



P V4~ 1/ [ -
AUSTRIAN-AGRO-TEGCHNIK

EG Declaration of Conformity

The manufacturer: Thomas Hatzenbichler
Agro-Technik GmbH
Fischering 2
A-9433 St. Andra
Phone: +43 (0) 4358/2287

declares that the following product:

Product: Pneumatic Seeder ,,Air 16

Serial number:

Year of building

all relevant provisions of the Machinery Directive (2006/42/EC).

To properly implement the EG directives specified in the safety and health requirements of the following
standards and / or specifications have been used.

DIN EN ISO 4254-1 Agricultural machinery - Safety - Part 1: General requirements

DIN EN ISO 12100 Safety of machinery - Basic concepts -
Risk assessment and risk reduction

DIN EN 60204-1 Safety of machinery - Electrical equipment of machines Part 1:
General requirements

Fischering, 13.07.2015
Date

Page 2



" AUSTRIAN-AGRO-TEGHNIK

2nd. Safety information:

Before starting,
read the instruction manual
and note.

When attaching the
machine and during
operation of the hydraulic
folding ensure that no one
in between.

Stay clear of swinging ran-
ge folding machine parts!

Only operate in the hyd-
raulic lift drup zone if hy-
draulic cylinder is suppor-
ted by a mechanical stay

The transport of the ma-
chine is prohibited!

the stripper is to be che-
cked prior to each start of
work

Never reach into the crushing
area as long as parts may move!

Beware of high pressure
fluid escaping!

Page 3



P V4~ 1/ [ -
AUSTRIAN-AGRO-TEGCHNIK

3rd. Intended Use

Dear Customer!

We are pleased to congratulate you on your buying decision and wish you much fun and success in working
with this device.

Please read necessarily before using this product all the instructions in this manual carefully.
This will avoid, reduce risks, downtime and repair costs, increase reliability and service life of your machine.

With illustrations and information on technical data and dimensions in this manual changes designed to
improve, are reserved.

The machine is equipped with state of the art and the recognized securities safety rules. Nevertheless, results
from the use of injury to the user or third parties.

The only machine in perfect working condition for its intended purpose, safety and
risk of danger with respect to use of the manual!

In particular, problems that can affect safety must be corrected immediately.

The machine may only be used by individuals, maintained and repaired, who are familiar with and aware of
the danger.

The installation or modification of products can not Hatzenbichler constructively given
Characteristics of the machine to change negative and thereby impair the safety of man and machine.

The machine is designed for normal use for cultivation in the agricultural sector determined.
Any other or additional use is considered improper.

Shall not be liable for damages resulting from Hatzenbichler.
The risk is borne entirely by the user.

Intended use also includes compliance with the instruction manual and the adherence to the manufacturer’s
instructions for operation, maintenance and maintenance requirements.

4th. Accident prevention

> The General accident prevention regulations of each country are taken into account.

> When is arrival and uncoupling the machine to the hitch of the tractor injury.

> The unit must be secured to prevent accidental switching off when rolling.

> The device may only be used by anyone on the regulations for public transport streets know.
> The attached machine before hanging off the ground.

Page 4



—

P J W 4 1L .
"AUSTRIAN-AGRO-TECHNIK |

5th Germination requirements
Hatzenbichler assumes no liability for the germination of seeds.

Grounds:

We lack any ability to predict the following factors:
Lst Soil condition
2nd State of the seed
3rd Depth of sowing
4th Preparation of the soil before application
5th The device the seeder was mounted too

Instructions for installation and operation of the device:

The calibration test must be performed by the operator in the field.

“Air 8 - Pneumatic seed drill with 8 hoses to over-or reseed
to 6,50m working width.
For sowing in the field ploughed to 3.00 m working width.

“Air 16“ - Pneumatic seed drill with 16 hoses to over- or reseed
12m working width.
For sowing in ploughed field to 6m working width.

6th. Warranty

Check the unit immediately upon acceptance for possible shipping damage. Subsequent complaints from tran-
sit damage can not be accepted.

We give a one year warranty from date of shipment (your invoice or delivery note as proof of valid).
This warranty is valid in the case of material or construction failure and does not cover parts that are damaged
by normal-or excessive wear.

The warranty is void

- if damage is caused by external forces

> when an operation error

> if the specified KW/horsepower limit is exceeded

> if the device is changed without our consent, extended, or is equipped with foreign parts.

Page 5



e

AUSTRIAN-AGRO-TEGHNIK

7th. Air 16 - Installation Instructions
7.1 PNEUMATIC SEEDER

1. Attach the support bracket for the seeder behind the headstock.

2. Mount the Seedbox on the support bracket such that the electric blower and the metering device for the
rear point and the seed tubes face forwards to the distribution bars.

3. The operator platform should be behind the seed box and positioned as desired.

7.2 METERING WHEEL

1. The wheel is mounted with the included locating pin on the lower hole of the rear parking stand.
The cable should have the right hose.
2. The bracket for the cable conduit is mounted right on the roller suspension.

7.3 DISTRIBUTOR TUBES

1. Remove the plastic caps on the front of the carrier, push the pipe all the way into the
mounting bracket and tighten the screw.

2. Mount carrier distribution bars of C-insert into the mounting bracket, and set 20 to 40cm above the
ground.

3. Attach distribution hoses with the supplied screws on the distribution bars at a distance of approximately
37.50 cm spacing (3m harrow).

4. Secure the hoses to the distribution head and ensure hose is clear when machine is folded.
Note: Inside pipes on seeder should be directed to outside points of harrow were possible.

]
iy

Page 6



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

7.4 POWER OF THE BLOWER

The fans need 12V/30A directly from the battery of the tractor. The two fans are separately connected to the
battery. When connecting, make sure that the fans are running in the right direction, ie in plan view in a
clockwise direction.

1. Power cable (see Figure 1) connect directly to the tractor battery put on / off switch and 7-pin connector
in the cab.

2. The cable of the Seeding machine has a 7-pin socket which is connected to the power cord of the tractor.

3. The supplied cable has the positive wire to the battery via two series fuses (16 A).

Air electric
Main cable to monitor

PIN Nr. | WIRE Nr. Description
A | Motor-
B 2 Mator-
c 3 Motor+
o] 4 Molor+
E 5 Grd - Sensors
F & +12VDC Sensors
G 7 Molor Sensor
H 8 Wheel/Radar Sensor
1 9 Tank Sensor
J 10 Fan Sensor Motor
K 11 Agitator Sensor PIN Nr. | WIRE Nr. | Description
L 12 Mator- ; ; Motor-
M 13 Mator- s = ok
N 14 Motor+ P 2 Semore
g 15/PE Motor+ 5 SIPE Sensor Signal
R [
s 7
T
u

5 4[3[2 1|
PE
9 |§ 11 7 1
Main cable i )
ain ca
e 9/8/7/6/5(4/3(21

Hydraulik Fan Sensor
Female Plug 4pin
Pin1 - Wire1 - +12VDC
Pin2 - Wire2 - Ground
Pin3 - Wired - Signal

I O s i e =
Hydraulik Fan Sensor

Page 7



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

7.5 HYDRAULIC FAN

The fan mounting bracket bolts directly onto the front 100x100mm box section between the 1/h lower hitch
and the headstock. The air pipe (ID 1100mm) connects between the fan and seeder air intake with hose clips
provided. The pressure gauge and bracket should be mounted in place of the existing hydraulic service bra-
cket on the richt hand side of the main chassis.

The hydraulic fan requires an unpressurized return oil supply 2-16 1/ min.

The oil flow should be adjusted on the hydraulic spool valve on the tractor and

may 16 1/ min. not exceed, otherwise the oil seal of the engine could be damaged. After connecting it must be
ensured that the fan runs in the right direction: the blades must rotate clockwise when looking at the air inlet.

1. Fit the 1/2% hydraulic hose coupling into the tractor hydraulic service.
2. The 3/4% return hose from motor should be pressure free return direct to the tractor hydraulic oil reservoir,
using the 3/4“ female coupling provided. This return pipe has a one way valve fitted.

7.6 FAN SPEED ADJUSTMENT

The speed is automatically displayed on the controller display; the alarm (fan not running), however, must be
activated (MENU 140.0 of control). Recommended operating speed of the hydraulic fan: min. 1,600 Turns /
Minute .; max. 3,800 Turns / Minute. The operating speed should taking into account the working width and
the type the seed can be selected. This hydraulic fan is suitable for fine and grass seeds max. 12.50 m working
width.

Small seeds: 2.000 - 3.000 Turns/Minute

Grass seeds: 2.500 - 3.500 Turns/Minute

Note: It is essential that the cover of the hopper is completely hermetically sealed and properly, so there is
no air flowing through it!

Page 8



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

8th. Note for the operation

8.1 Basic settings for the cover of the seed hopper

> Before you start seeding check if the cover of the seed hopper is close
with the handle.

> Check the screw of the cover of the seed hopper if it s fixed

- An air tight seal must be achieved for correct air flow.

2. basic settings
Before filling the seed box, note the following:
1. The correct seed roller is installed?

Attention!!! The seed roller must be according to the size of the seed and seed rate to be selected.
Seed, applied to the coarse seed roller:

grass seed mixtures, rye, barley, wheat, oats, etc.
(usually small amounts, 10kg/ha - >)

Seed, applied to the fine seed roller:

Pure clover seed, rape, phacelia, granules, etc.
(usually small amounts, 15kg/ha < - >)

3. Setting the seed retention brush:

The distance between the retaining brush from the seed shaft can be adjusted with the lever on the right
side of the pneumatic Seeding machine. It is possible to choose a distance between 1 and 7mm.

Note the following:
The distance between the brush and roller corresponds to about 1/2 a seed means

Oilseed rape, clover 0,lmm
Grass mixtures 1-2mm
Ground cover and feed mixtures 2-3mm

The gap at the bottom of the seed roller should never be more than 1mm (factory setting).

Lever for adjusting the
retaining brush

Page 9



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

8.2 Changing the seed roller:

1. Ensure that the seed box is completely empty
2. To replace remove the bearing support cap on the right side of the seed roller.
3.Pull out the roller, while doing so turn counterclockwise and pull.

Pull out the seed roller

Opening the bearing support of
the closing flap by thumbscrew

Installation of a new seed roller:
1. Push new seed roller into the drive axle
2. Replace the bearing bracket.

3. After securing the bearing holder use the spring washer at the end of the seed roller to ensure correct balance.
Attention!!! the slices should not sit tight

4. Turn metering wheel and make sure that the metering roller rotates properly.

The bearing
retainer refit using
the thumb screws

New seed roller shaft to the drive axle

Page 10



dlzZe 1/ [ -
AUSTRIAN-AGRO-TEGCHNIK

8.3 Protection plate of the seed roller

The protective plate is located in the interior of the seed hopper and carries the weight of the seed. It was
primarily designed for heavier seeds such as rapeseed oil.

In lighter crops such as grass seed, make sure that the protective plate caused no bridging effect. If this prob-
lem persists, the protective plate can be removed by means of wing nut screws and the sowing may continue

without this protective plate.

Attention!!! Remove only the protection plate when you are using light seed for seeding

Protection plate
of the seed roller
mounted in the
inner Seedbox

Removed
protective
plate

Remove by loose-
ning the wing nuts
on all 4 sides

8.4 Drive

Metering wheel:
Before sowing remove the transport security pin and let down to the ground. The wheel in working position

is also in constant contact with the ground floor irregularities. If the device is lifted, there is a pin holding the
lever under the wheel to keep it away from the ground.

drive cable
The cable conduit is fed to the struts in such a way that prevents kinking.

Attention: The direction of the wheel can not be reversed.

Sensor drive wheel

Release the drive wheel from transport position onto the ground. Allowing for constant drive wheel contact
over undulations, pin under the drive wheel arm to clear ground when harrow is raised out of work.

Drive wheel axle should have minimal side movement to ensure senosr gap is constant, shims are available to
compensate for ware. The sensor and drive wheel slots must be clean to provide a goog signal to the on board
computer. The gat from sensor to drive wheel sould be 5-8mm, this can be adjusted on the sensor mounting
nuts.

Page 11



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

8.6 Calibrate

1. Remove the cover of the seed roller

2. Insert the calibration bucket into the tray of the metering roller.

3. Follow the steps on the on board computer for calibration see page 45
4. Weighing the aborted seeds with a scale.

5. Enter the weight in the on board computer.

6. Close the cover of the seed roller.

8.7 Drain the Seedbox

> Position the calibration tank into the compartment (8.6.2)

> Position the seed rate adjustmend lever at maximum output and fully open the seed retention brush.
Turn the metering wheel until the seedbox is empty.

- On completly emptying of the seedbox the seed roller must also be removed.

9th Working at the field

Litter:

Old pastures can be optimized by applying new seed. Preparing the old pasture with the harrow, so that cost-
effective broadcast seeding can be done. The combined use of pneumatic seeder and grass harrow makes the
most of efficient solution, because at the same time as fighting weeds, and aeration of the soil the conditions
for gemization are optimized.

Overseeding:

The seeding has the advantage of higher yields and improved feed quality. Seeding on cultivated soil with the
harrow and the pneumatic sowing machine is easy to handle. However some points to consider:

> Determined before application of the pH, phosphate and potassium content of the soil.

> The seedbed should be fine and firm

> Seeding depth observed

Intercropping:
It is also possible after harvest in stubble intercrop, the application of a pneumatic seeder Air 8. For example,
the installation of a disc harrow or Hatzenbichler Delta.

10th Before start working:

> Operation of both fans and the true direction.

> It is recommended to allow both fans run briefly to allow for any moisture in the distributor tubing to dry.
Thus, the risk that reduces clog the tubes.

> It should be min. 10kg seed in the seed box.

>The lid of the hopper should be air sealed.

> Ensure distribution tubes are 20-40cm above ground.

> Check all hoses to ensure uniform output across the entire width.

Page 12



11th Care and Maintenance

> Clean electric fans with compressed air, especially in dusty environments.
> Check cables and connectors for damage.

> Check whether the agitator is clean and ready.

> Check for damage or wear. Any defects rectified immediately.

> Check nuts and bolts regularly for tightness and tighten if necessary.
(On new units every 3 hours and again after 20 hours.)

> Do not use high pressure washers for cleaning bearings and hydraulic parts used.

12th Storage in winter

> Completely empty Seedbox
> Completely and thoroughly clean

> Protected from the weather, so that the distribution pipes and the dosing may not
accumulate moisture.

Page 13



for this procedure you dont have 1. remove the bold and washer 2. remove the clutch
to remove the belt.

3. turn the clutch (1) 4. connet the turned clutch with 5. now the agitator is turned off
bolt and washer

> Turning off the agitator shaft is only useful if fine seed is spread example clover seed.

Page 14



14TH SPARE PARTS CATALOG FOR PNEUMATIC SEEDER ,,AIR 16

]

@
\

16

Page 15



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

AIR 16 COMPLETE

item code item number designation

0405010001 1 undercarriage for ,,Air 16“
0405020001 2 hopper for ,, Air 16“

0405030001 3 calibration bucket for ,, Air 16“
0405040001 4 baseplate for ,,Air 16

0405040002 5 Protection plate of the seed roller
0405040003 6 holder for calibration bucket
0405040004 7 holder for protection plate for the seed roller
1902070001 8 nut DIN 467- M8

1902080001 9 wing nut DIN 315-M38
1908010007 10 washer M10

1901010070 11 hexagonal screw DIN933 M10x25
1901010069 12 hexagonal screw DIN 933 M10x30
1902010005 13 hexagonal nut DIN 985 M10
1908010001 14 washer M12

1901010009 15 hexagonal screw DIN 933 M12x45
1902010003 16 hexagonal nut DIN 985 M12

Page 16




P V4~ 1/ [ -
AUSTRIAN-AGRO-TEGCHNIK

METERING BOX

Page 17



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

METERING BOX
item code item number designation
0405010008 1 tooth-belt disc with magnet 36Z
0405010009 2 Disc f. clutch with bolt
0405010010 3 motor extension for ,,Air 16“
0405010011 4 tooth-belt disc 36Z for the clutch
0405010012 5 seal for bearing 202
0405010013 6 spacer for clutch
0405010014 7 tooth-belt disc 36Z {. clutch
0405010015 8 Lead belt tensioner
0405010016 9 clamp plate for tensioner
0405010017 10 holder for belt sensor
1906030011 11 flange bearing SBPFL 204
1904040002 12 spring 4x4x20
1908010009 13 disc DIN 9021 - 6,4
1901010072 14 hexagonal screw DIN 933 M4x45
1906030012 15 flange bearing SBPFL 202
1901010039 16 hexagonal screw DIN 933 M6x12
1906030013 17 needle sleeve HK1522
1904030003 18 circlip DIN 471 - 15x
0405010018 19 tooth-belt 16ATS5 - 1=525mm
1908010007 20 washer M10 - DIN 134
0405010019 21 roller set style RE 3/4
1908010008 22 washer M6 - DIN 134
1902010009 23 hexagonal nut DIN 985 M6
1908010010 24 washer M8
1901010066 25 hexagonal screw DIN 933 M10x16
1901010073 26 hexagonal screw DIN 933 M8x16
1901090002 27 threaded pin DIN 913 - M8x100
1912070017 28 cable eye diameter 6mm
1918030007 29 belt sensor
1902010010 30 hexagonal nut DIN 985 M4
1901070007 31 cylinder screw with slit M4x20

Page 18



P | W 4

AUSTRIAN-AGRO-TEGHNIK

UNDERCARRIAGE FOR ,,AIR 16

9
6
item code item number designation
0405010034 1 hose holder
0405010035 2 clamp sheet
0405010036 3 motor cover
0405010037 4 motor mount
0405010038 5 undercarriage for ,,Air 16“
1901010041 6 hexagonal screw DIN 933 M6X16
1918030008 7 E-motor
1904040005 8 spring 4x4x16
1908010008 9 washer M6
1908010010 10 washer M8
1901010073 11 hexagonal screw DIN 933 M8x16
1901010074 12 hexagonal screw DIN 933 M5x16

Page 19



- -

e J 4

AUSTR

IAN-AGRO-TEGHNIK

SEED HOPPER

item code item number designation

0405020002 1 drain cover for ,,Air 16

0405020003 2 hopper for ,,Air 16“ without standard parts
0405020004 3 cover for ,,Air 16“ without standard parts
0405020005 4 Edge protection profile for drain cover
0405020006 5 clamp profile for viewing window
1916020002 6 viewing window

0405020007 7 sealing profile for cover, 1=2250mm
1917010003 8 Lever Release for container

1901010071 9 hexagonal schrew DIN 933 M4x12
1902010010 10 hexagonal nut DIN 985 M4

0405020008 11 filler profile for viewing window
1901020001 12 star handle M8x25

1908010007 13 washer M10

1901010069 14 hexagonal screw DIN 933 M10x30
1902010005 15 hexagonal nut DIN 985 M10

1917010004 16 hook for lever release

Page 20



«l — i —
AUSTRIAN-AGRO-TEGHNIK

UNDERCARRIAGE MOUNTED FOR ,,AIR 16°

-

item code item number designation

0405010002 1 adapter for injection hood

0405010003 2 hole sheet for ,,Air 16

0405010004 3 Side cover for ,,Air 16 without standard parts
0405010005 4 Cover for injection hood

0405010006 5 Edge protection profiles straight for side cover
1908010008 6 washer M6

1902010009 7 hexagonal nut DIN 985 M6

1901010041 8 hexagonal screw DIN 933 M6x16

1901030001 9 sheet screw ST3,5x16

0405020008 10 filler profile for viewing window

0405020006 11 clamp profile for viewing window

1916020002 12 viewing window

0405010007 13 Edge protection profile for cover for injection hood

Page 21



e J 4

AUSTRIAN-AGRO-TEGHNIK

HOLDER FOR AIR 16

item code item number | designation

0405060106 1 bracket for Air 16

1908010001 2 washer M12

1901010011 3 hexagonal screw DIN 933 M12x40
1901010006 4 hexagonal screw DIN 933 M12x50
1902010003 5 hexagonal nut DIN 985 M12

Page 22



Page 23



UNDERCARRIAGE MOUNTED FOR ,,AIR 16

item code item number designation

0405010020 1 Air baffle for seed roller

0405010021 2 hexagonal for seed roller

0405010012 3 seal for bearing 202

0405010022 4 shaft for agitator

0405010023 5 brass bearing for bearing block
0405010024 6 plastic part for bearing block

0405010025 7 adjusting for brush

0405010026 8 Cover for seed roller without standard parts
0405010027 9 bearing block for ,,Air 16“

0405010028 10 brush for ,,Air 16“

0405010029 11 brush adjustment

0405010030 12 sahft diameter 4mm for agitator - 1=80mm
1906030012 13 flange bearing SBPFL 202

1904040003 14 spring 5x5x20

1904040004 15 spring 5x5x12

1908010008 16 washer M6

1902010009 17 hexagonal nut DIN 985 M6

1908010010 18 washer M8

1901020002 19 star handle M6

1901090003 20 threaded pin DIN 913 M5x6 - A2
0405010031 21 rubber 20x5

1902010002 22 hexagonal nut DIN 985 M8

0405010032 23 Edge protection profile

1901100004 24 disc M8x55

1901010074 25 hexagonal screw Din 955 M5x16
1901020003 26 star handle

0405010033 27 Edge protection profile straight for seed roller cover
1902010011 28 hexagonal nut DIN 985 M4

Page 24




x
=
- -
@
) [E
0
e
=
4]
g
=
=
-
[
¢
=]
<

C-RAIL FOR 1,50M FIELD WITH ATTACHMENTS

Page 25



C-RAIL FOR 1,50M FIELD WITH ATTACHMENTS

item code item number | designation

0405060105 1 clamp plate for distributor adjustment
0405060104 2 angle for distributor adjustment
0405060102 3 adjustment for distributor adjustment
0116010008 4 distributor

1901070008 5 cylinder screw DIN 912 M6x12
1902010005 6 hexagonal nut DIN 985 M10

1902010002 7 hexagonal nut DIN 985 M8

1901010003 8 hexagonal screw DIN 933 M8x40

item code item number | designation

0116010008 4 distributor

1901070008 5 cylinder screw DIN 912 M6x12
0405050002 9 c-rail 1=1410mm

1902010003 10 hexagonal nut DIN 985 M12

1908010001 11 washer M12

1901090004 12 threaded pin DIN 914 M12x20-A2
0405060103 13 holder for c-rail

0116010009 14 clamp plate for distributor adjustment
1901010015 15 hexagonal screw DIN 931 M12x120
0405060100 16 holder for c-rail at the field carrier - part 1
0405060101 17 holder for c-rail at the field carrier - part 2
item code item number | designation

0405050001 18 c-reail I=1965mm

1912100002 19 seeding hose @= 25x2,4mm per one meter
0405060001 20 distributor for Air8/Air16 complete
0405060004 21 adjustable distributor - complete
0405060002 22 holder for c-rail at the field carrier - complete
0405060003 23 holder for c-rail - complete

Page 26



P V4~ 1/ [ -
AUSTRIAN-AGRO-TEGCHNIK

SENSOR METERING WHEEL

complete: 0402010001 b

Page 27



SENSOR METERING WHEEL

item code item number | designation

1918010001 1 sensor for trail wheel

0402010003 2 cover disc for trail wheel
0402010002 3 spacer tube @=20x4 1=43,5mm
0402010004 4 cover for sensor

0402010006 5 plate for brake

0402010005 6 sensor wheel loose

0402010007 7 arm for sensor wheel

0402010008 8 brake for sensor wheel

0402010009 9 multi-hole adjustment for sensor wheel
0402010010 10 spacer tube @20x4 |I=16mm
1903030006 11 connecting pins @=10mm, 1=75mm
1903030008 12 connecting pins @=14mm |=75mm
1906030002 13 deep groove ball bearings DIN 625 -6004 -2RS
1901010010 14 hexagonal screw DIN 931 M12x100
1904020002 15 linch pin @=4mm

1904030001 16 circlip DIN 472 -42x1,75
1904030002 17 circlip DIN 472 - 20x1,2
1902050001 18 hexagonal nut M18

1906030003 19 wheel hub for plant protection
1902010003 20 hexagonal nut M12

1902010002 21 hexagonal nut M8

1901070001 22 cylinder screw M6x30

1901010005 23 hexagonal screw M12x25
1901010038 24 hexagonal screw M5x10
1901010039 25 hexagonal screw M6x12
1901010032 26 hexagonal screw M8x25
1912070001 27 Stauff-clamp

1906010001 28 cylindrical socket TFZ2015B
1918020001 29 Brush for sensor wheel

Page 28



P J V4 - ) _ .
AUSTRIAN-AGRO-TECHNIK

HYDRAULIC FAN

complete: 0404010001

Page 29



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

HYDRAULIC FAN

complete: 0404010001

item code item number | designation

0404010008 1 basket for hydraulik fan
1901080001 2 flat Head Screw M6x10
1908030001 3 spring ring DIN 127B-10
1901080002 4 flat Head Screw M4x10
1902010009 5 hexagonal nut M6

0404010009 6 blower half small section
0404010010 7 wings for fan

1902060001 8 hexagonal nut M10 - Linksgewinde
0404010011 9 blower half big section

1902010010 10 hexagonal nut M4

1916020001 11 foam 20x5 1=180mm

1901090001 12 thumbscrew M5x12

1912100001 13 blast hose @=75mm per one meter
1916010002 14 sealing Cap ZK 30/25

1912070002 15 hose clamp 70-90

Page 30



—

"’:F- ./_ _.‘"‘II‘I - - i —
AUSTRIAN-AGRO-TEGHNIK

MOTOR WITH CLUTCH
complete: 0404010001

Page 31



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

MOTOR

WITH CLUTCH

complete: 0404010001

item code item number | designation

1912020012 1 hydraulik hose for hydraulik fan
1912090001 2 shaft for hydraulic fan

0404010002 3 fan holder

1904030002 4 circlip 20x1,2

1904040001 5 wedge AS 6x6x16

0404010003 6 clutch - hub with @ =20mm
0404010004 7 clutch - sprocket 92 Shore

0404010005 8 clutch- Hub with taper

0404010006 9 hydraulic motor for fan

1901010043 10 hexagonal screw M6x30

1901010044 11 hexagonal screw M5x8

1918010002 12 speed sensor with cable and connector
1906030004 13 deep groove ball bearings - 6204 -22RS
1902010009 14 hexagonal nut M6

0404010007 15 high pressure seal

1904030004 16 circlip 22x1

1912030004 17 screwed

1912040001 18 dust cap red

Page 32



aa ¥ 4

AUSTRIAN-AGRO-TEGHNIK

STAINLESS TUBES

item code item number | designation
0405010039 1 tube @ 30x2mm, 1=100mm
1912100003 2 seeding hose @=30x2,5mm per one meter

Page 33



P J V4 - ) _ .
AUSTRIAN-AGRO-TECHNIK

=%  OK Esc

Operator's Manual

Rev. 1.00

Page 34



—

P J W 4

AUSTRIAN-AGRO-TEGHNIK

ContentsTable of Contents

Hatzenbichler On-Board Computer — Operator's Manual ..........cccoevvvnnnnncncnencnccncncnes 36
CONLTOLS <.ttt ettt 37
Controls and Interfaces at the Bottom of the On-Board Computer..........cccceeverererccencnces 38
Main SCreen (JOD SCIEEI) .ouiiiiieiiiiiieeieeeeteeeeee ettt ettt eat e sre et sa e et e b e sae et e saesneeneas 39
IMPOTrtant SEttINGS ....cccceviviiiiiiiiiii e 40
GEtHNG STATTEA ettt 41
L INPUL e 44
1.1 Selecting a Job and Calibrating the Seed BOX .......covevenenenenenencncciicccccccececee 45
1.2 Resetting Counter VALUES .......c.ccccuerieiriririniririresieereeseeeeeeeseesese bbb s s seseses 48
1.3 Setting the Seed Rate ......c.ccceiuiiiiiiririiereer bbb aee 48
1.4 Setting the Refill QUANTIY ....c.ceueueueiririeirieerrr e 49
1.5 Setting the Working Width ........c.ccceiiiiinn e 49
1.6 Setting the Limits for Fan RPM Alarm .......cccovvvvnnnnnenecercccccccccciceieieeieeeeenes 50
2 SPOCIAL. ..ttt 51
2.1 ALATINS ettt 52
2.2 DiSPlay SETtINGS ...eovevreeeeeieeeeceeeieieieiei ettt ettt ettt 52-53
2.3 Wheel - Pulses per ReVOIULION .......cccoceueeueueiiiiieiiieieiiieirisersssesseseeseeseee e 53
2.4 Shake FIee MOde .....ccoviiiieiiiriicciiieccieeceteece ettt esaesens 54
2.5 EMPtying the HOPPET ..ottt 55
2.6 Correction FaCTOT ... 55
2.7 Hectare COUNLET ..o 56
BTESE e 57
3.1 SIMULATION. ettt 58
B2 KOYS it 58-59
B3 INPUL e 59
3.4 Battery VOILAZE. ..c.cueueueueueucicicicicicieieietetetetete ettt 59-60
3.5 SOFtWATE VEISIONS ....vvuiuiuriiiecicieiiicieietriteerete ettt sesesnacs 60
4 SETUP vttt bbb bbbt b et 61
4.1 TIME/DALE ..oviiiiiiiicci s 62
4.2 LANZUAZE ..ottt et 63
4.3 TYPE OF SENSOT ..ttt b bbbt see 63-64
4.4 SOFtWAre UPAALe ....c.cueuimiiiiiiieieieieisieiessree ettt aee 64-65
4.5 OS UPAALE .ottt ettt aee 65
4.6 FactOry SEttiNGS .....ccoviviiiiiiiiiiiiiiiicrce e 66
5 Setup Hatzenbichler ..ot 66
6 Spare parts and cable sets for on-board COMPULET ........c.ceurueireriririririnnrre e 67



—

,’-_Ff- /— —_— -

AUSTRIAN-AGRO-TEGHNIK

Hatzenbichler On-Board Computer — Operator's Manual

This Operator's Manual covers the operation of the on-board computer which comes
with the pneumatic seeders Air 8 (electronic) and Air 16.

You must have read and understood this manual before starting up the on-board
computer.

The on-board computer is for controlling the motor of the metering roller based on
pulses from a wheel-driven sensor or radar sensor.

The Hatzenbichler on-board computer allows the user to store different seed rates
and assign to them names and the corresponding calibration quantity.

The on-board computer offers various checking and monitoring features, such as

e Speed display (in km/h)
e Actual seed rate

- Elapsed time

- Distance counter
- Hectare counter
Used seed

- Filling level

e Belt
e Motor
e Speed control

The computer signals problems by means of an acoustic alarm signal and shows an
error message on its display.

Page 36



e J 4

AUSTRIAN-AGRO-TEGHNIK

Controls

The ,,UP* arrow lets you navigate to
the menu items you want to work with.

The ,,DOWN* arrow lets you navigate to
the menu items you want to work with.

The "-" key is for decrementing values.

The "+" key is for incrementing values.

The ,,OK*“ key stores any value or alteration
made to the computer.

The ,,ESC* key lets you exit the active window
and takes you one step back.

m

O 660000

The ,,DigiPot“ lets you increment/decrement
values to be entered by turning the knob CW/CCW.

Page 37



-

AUSTRIAN-AGRO-TEGHNIK

Controls and Interfaces at the Bottom of the
On-Board Computer

Main Connector Power  ysp

" supply ort
switch socket sabla P

Page 38



P J W 4 1L .
AUSTRIAN-AGRO-TECHNIK

Main Screen (Job screen)

The main screen shows all information about the job in progress. In the following this
screen is called "Job screen".

7
1 8
9
e 10
11
3 12

4

m Second function for OK button

H Second function to get into the menu

1 Travelling speed 7 Elapsed time

2 Actual seed rate in kg 8 Distance counter
3 Seed rate +% and -% 9 Hectare counter
4 Job 10 Used seed

5 Job number and name 11  Filling level

6 Date and time 12 Fan RPM

Page 39



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

Important Settings

Before you start working, make the following settings:
1. Select Language (menu 4)

2. Check Working width (menu 1)

3. Check Type of Sensor (menu 4)

4. Check the pulse settings for wheel or radar sensor (menu 2)
e Wheel: Dist. of pulses =4.75
e Radar: Dist. of pulses = 0.74

Page 40



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

Getting Started

From calibration to seeding

Once the computer is energized by pressing the main switch at the bottom of the
device and the boot loader has completed its routines, the start screen appears on
the display.
After 5 seconds the Job screen is displayed.
Before you start, get familiar with the controls and the information on page 6.
Please note that two functions have been assigned to the keys "OK" and "Esc":

e "OK"+"AUTO"

e "Esc"+ "Menu"

- Press "Esc" to enter into the Main menu ey

- Use the arrow keys B and 8o navigate T —
through the menu pverrm— ] e

- Select "Input" 39, =

B PreSS “OK" Setip Hatzenbichler

VT A& T T T = [

VAAK=—N+ AOKKEsc

Fig. 1

- Select "Working width"

- Press "OK" -
ﬁt?ﬁ-msw
v ) A} =} 4+ |OKJEsc
Fig. 2
- Enter the working width by pressing "+" or "-" QI
or by turning the DigiPot. x
- Press "OK"

Working width e (m)

s e R

¥ A — | 4 0K Esc

Page 41



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

Use the arrow keys B and @t navigate to
IIJObll
Press "OK"

Press "+" or "-" to select the job number (1 ... 30)
Press the arrow key Qo navigate to "Name".
Here you can enter a descriptive name for the
selected job.

Press "OK"

Press "+" or "-" or use the DigiPot to navigate to
the character/number you wish to enter. Confirm
the selected letter by pressing "OK" or the
DigiPot. Repeat this step until the name is
complete.

Press "Esc" to set the type of metering roller.

Press "+" or "-" to select the metering roller
(coarse, fine, micro) installed in the seed box.
This entry is for your information only and has no
effect on the internal calculations made by the
computer.

Press "OK" to confirm your selection.

Reset caunter
Seed rate
Refill quantity
Working width

e ]| on ] pack ]

v, A — ] 4 |OKEsc

“Job no.

name

CCalitrat Lo LR ]
M of rewolutions @

e tering Folter Enarna
type

AT (T N B BTSN B

VAAK=—X-<+ AOK\Esc

ol -l wentrisdilir
L

\EE it
H=18/1"2:34'56 7789 =
ABCDEFGHII
KLMNOPORST
UNWRYZT_ oL

- |
Space. . [Delete

VAAK=—N-<+ AOKNEsc

ol e wssticdiler

Job no. 1,
s 3

‘Metering roller type

=il == b =T T ke

viAN=—}<+ NOKJEsc

Fig. 7

Page 42



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

- On the next screen information about seed rate,
minimum and maximum driving speed is
displayed.

- Press "OK" or "Esc" to return to the Job screen.

- Press "OK" to enable the seeding process.

A small seeder icon appears on the screen
indicating that the machine is ready for seeding.

During seeding the cover of the seeder must be

hermetically sealed. |i A EEEE) l

Page 43



1 Input
1 Input H

1.1 Job

’—-> 1.1.1 Job no.

2 Special ‘

I

3 Test ‘

I

4 Setup ‘

5 Setup Hatzenbichler ‘

1.2 Reset counter

1.1.2 Name

ﬂ 1.2.1 All - Delete ‘

; 1.1.3.1 Calibration -
1.1.3 Metering roller type —% No. of revolutions

1.1.4 No. of revolutions

‘ 1.1.3.2 Start

‘ 1.1.3.2.1 Calibr. quantity [kg]

1.3 Seed rate

v

1.2.2 Distance - Delete

‘ Seed rate [kg/ha]

v

1.2.3 Area - Delete

v

1.2.4 Operational Hours -
Delete

v

1.2.5 Deposited Quantity -
Delete

r} 1.3.1 Seed rate [kg/ha]

‘ Driving speed min/max

Seed rate and driving speed
info

1.4 Refill quantity

[_’ 1.4.1 Refill quantity [kg]

1.5 Working width

|

1.6 Fan

r|-> 1.5.1 Working width [m]

’—> 1.6.1 Alarm: RPM min/max <J

Page 44



1.1 Selecting a Job and Calibrating the Seed Box

When you have entered all important settings described on page 8 you can select a
job and start calibration. You can choose from up to 30 different jobs. Jobs can be
used to distinguish between different types of seed, calibration parameters, metering
rollers and seed rates (kg/ha).

The Hatzenbichler seeder comes with two standard Standard
metering rollers (coarse and fine). For applications ———
where these two roller types are not suitable, a &=
superfine roller (micro) and a segmented roller with £
holes are available. | 3
: BT
| EN
| £
t3
~y

Coarse Fine Micro Segmented
with holes
Fig. 14

- On the starting screen press "Esc" to activate the
Main Menu.

- Press "OK" to select "Input".

Page 45



Press "OK" to select "Job".

Enter the job number (1 ... 30) by pressing the
key "+" or "-".

Press the key (v} (Name) to enter a job name.
Select the characters to be entered by pressing
"+" or "-" or by turning the DigiPot. Press the
DigiPot or "OK" to enter the selected character.
Repeat these steps until you have entered all
characters. Then, press "Esc" to enter the type of
metering roller.

Press "+" or "-" to select the metering roller type
installed in the seed box.

Press "OK" to confirm your selection and to go to
"Calibration".

Enter the number of revolutions by pressing "+"
or "-" or by turning the DigiPot. Press "OK" to
confirm your selection.

Please make sure that the number of revolutions
is not too high and corresponds to the type of
seed. For example, for rape seed 30 ... 50
revolutions are adequate. Seed with coarse
grains requires less revolutions (15 ... 25).

Reset caunter
Seed rate
Refill quantity
Working width
Fan

e ]| on ] pack ]

v, A — ] 4 |OKEsc

.H.T?.-.muu.?.u

Hetering roller type
E—T— T =7 5 [ & Tex]

VAAK=—X-< AOKNEsc

. revolutions =o o |

viAN=—}<+ NOKJEsc

Page 46



Make sure that there is enough seed in the tank for L —

calibration purposes. However, the filling level

should not exceed the quantity needed for cali- dob 1 -caass

bration in case you must exchange the metering Rt ettons

roller.

- Install the calibration tray.

- Press "OK" to start calibration.

- Wait until the metering roller has completed the
number of revolutions you have set before.

- Determine the weight of the seed in the
calibration tray. e
- Enter the weight [kg] determined before by b 1 -cmAss
pressing "+" or "-". calibr. quantity
- Press "OK".

-  Press "+" or "-" to set the seed rate.
-  Press "OK"

AEE Ko/ ha

Enter quantity and press 0K

viAN=—H+4+ NOKJEsc

Fig. 23

Note on "Driving Speed" information:

If you don't get information about minimum or maximum driving speed, an error must
have occurred. In this case, change the metering roller settings in menu 1.1
accordingly. Then, go to "Input/Job" and press the key o (Calib.). This will trigger a
new calibration process.

- Press "OK" to confirm the settings.
-  Press "Esc" to return to the Job screen.

Page 47



1.2 Resetting Counter Values

Menu item 1.2 "Reset counter" is for deleting individual or all counter values of the

active job.

- Starting from the Job screen, press "Esc" to go
to "Main menu/Input". Then, press "OK".

- Press B to select "Reset counter". Press "OK".

Seed rate
Refill quantity
Working width
Fan

L W I — W T

VXAK=R+ NOK)Esc

- Press @ or B to select the desired function.

- Press "OK" to execute this function.

- Once the function has been executed, the :
computer returns "Deleted". . .......u.nf:'EE E.E.

- Press "Esc" three times to return to the Job 0 Deposited quantity Delete
screen.

1.3 Setting the Seed Rate

Menu item 1.3 "Seed rate" is for setting the seed rate value of the active job.

- Starting from the Job screen, press "Esc" to go
to "Main menu/lnput”. Then, press "OK".
- Press ® twice to select "Seed rate". Koo comirer

Refill quantity
Working width

- Press "+" or "-" or turn the DigiPot to enter the
seed rate [kg/hal.

- Press "OK" to confirm.
On the next screen, minimum and maximum
driving speed values are displayed for your
information.

- Press "OK" to return to the Job screen. v ) A =] + oK (Esc

L

Enter quantity and press OK_

1 L = 4+ | ax ] beck]

Page 48



1.4 Setting the Refill Quantity

Menu item 1.4 "Refill quantity" is for setting the quantity that has been filled into the
tank. Based on this information, the computer is able to calculate the remaining

quantity.

Starting from the Job screen, press "Esc" to go
to "Main menu/lnput". Then, press "OK".

Press & three times to select "Refill quantity".
Press "OK".

Press "+" or "-" or turn the DigiPot to enter the
refill quantity [kg].

Press "OK" to confirm and to return to the menu.

Press "Esc" twice to return to the Job screen.

1.5 Setting the Working Width

Menu item 1.5 "Working width" is for setting the width of the machine on which your

seed box is installed.

Starting from the Job screen, press "Esc" to go
to "Main menu/Input". Then, press "OK".

Press & four times to select "Working width".
Press "OK".

ol -l bl

Job
Reset counter
Seed rate

Working width

LW | & ) | ] os | oeck]

v iAN=}<+ IOKJEsc

Refill quantity I8 ko .

T — o I T T

VAAK=—X+ {AOK\Esc

Fig. 30

Job

Reset counter
Seed rate
Refill quantity

Fan
L N~ I S T T

¥ ) A — | 4 OKEsc

Fig. 31

Page 49



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

- Press "+" or "-" or turn the DigiPot to enter the
working width [m].

- Press "OK" to confirm and to return to the menu.

- Press "Esc" twice to return to the Job screen.

e — T T A

¥, A — | 4 |OK Esc

Fig. 32

1.6 Setting the Limits for Fan RPM Alarm

Menu item 1.6 "Fan" is for setting the minimum and maximum RPM values of the fan.

If the fan of your seeder is equipped with an RPM sensor, you can set here the

thresholds for RPM alarm.

- Starting from the Job screen, press "Esc" to go
to "Main menu/Input”. Then, press "OK".

- Press @ to select "Fan". Kare councer
= Press "OK". Refill quantity

Working width
BRI S e

| v | & | T ]| ox [necu]

VAAK=—N+ AOKNEsc

Fig. 33

- Press "+" or "-" or turn the DigiPot to enter the
minimum RPM threshold. Press "OK".

- Press "+" or "-" or turn the DigiPot to enter the
maximum RPM threshold.

- Press "Esc" three times to return to the Job
screen.

L ¥ [ & T - [ + [ & [bxi]

VA—-{-OKESC.

Fig. 34

Page 50



2 Special
1 Input 2.1 Alarms 2.1.1 All (ON/OFF)
| |
2 Special 2.1.2 Fan (ON/OFF)
| l
3 Test 2.1.3 Belt (ON/OFF)
I [
4 Setup 2.1.4 Tank (ON/OFF)
| |
5 Setup Hatzenbichler 2.1.5 Motor (ON/OFF)

2.1.6 Speed monitoring
(ON/OFF)

2.2 Display settings

2.2.1LCD -backlight

2.2.2 Keys -backlight

Backlight OFF [min]

2.3 Wheel - No. of pulses

2.3.1 Distance [m]

2.3.2Pulses

2.3.3 Wheel - No. ofpulses

2.4 Shake free

2.4.1 Shake free (ON/OFF)

2.5 Empty tank

2.5.1 Motor (ON/OFF)

2.6 Correction factor

2.6.1 Correction factor [%]

2.7 Hectare counter

2.7.1 Hectares, total

Page 51



2.1 Alarms

Menu item 2.1 "Alarms" is for enabling or disabling acoustic (buzzer) and visual
(display) alarms for components/functions of the seeder, such as fan, belt, tank,
motor, speed monitoring.

You can enable/disable acoustic and visual alarms as a whole or for each
component/function individually. In case you need a visual alarm only, you can
disable the buzzer separately. If you disable an alarm, the buzzer is disabled
automatically.

Starting from the Job menu press "Esc" to go to
the Main menu.

Special

Test

Setup

‘Setup Hatzenbichler

- Press & to select "Special", then press "OK"
twice to go to "Alarms".

Display settings
Wheel - no. of pulses
Shake free

Empty tank

Correction factor
Hectare counter

- Press @ or 8 to select the alarm you wish to
enable or disable.

- Press "+" or "-" to toggle between ON and OFF.

- Press "Esc" to return to the menu.

Lpeed monLtoring  ON dﬁj i

v ) A} =} 4+ |OK}Esc

2.2 Display Settings

Menu item 2.2 "Display settings" allows you to customize the backlight settings of the
monitor screen and the keys. You can also set the timer to switch the backlight
automatically off.

Page 52



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

- Navigate to menu item "Display settings".
- Press "OK" to enter the menu and customize the
backlight settings.

Wheel - no. of pulses
Shake free

Empty tank
Correction factor
Hectare counter

LY L & 1 | _ | ox [heik]

v) A — ] 4 0K Esc

- Press @ or 8 to select the setting you wish to
change.

- Press "+" or "-" change the corresponding value.
You can keep the keys pressed to keep
increasing/decreasing the value.

- Press "Esc" to go back.

2.3 Wheel - Pulses per Revolution

Menu item 2.3 "Wheel — no. of pulses" is for calibrating the sensor wheel. Here you
can enter how many pulses you get when you travel a distance of 100 m. The factory
setting is 4.75. You only have to change this setting if you don't use the original
sensor wheel by Hatzenbichler.

Preparatory work: Mark a distance of exactly 100 meters.

- Navigate to menu item "Wheel — no. of pulses".
- Press "OK" to enter into the menu.

Alarms
Display settings
Shake free
Empty tank
Correction factor
Hectare counter
N0 I Y I IS— U T

v, A — ) 4 |OK) Esc

- Press "OK" to start the calibration.

Distance 100 (m]l5 = C
Pulses ]

No. of pulses 4.

Page 53



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

- Travel the distance of 100 m. e

Distance 100 (m) ST
Pulses off|
No. of pulses 4,

Drive the test route, then
p Ok

- Press "OK" to confirm the new value.

- If you don't want to save the new value,
press (] (Reset) and start again or press
"Esc" to go back to the Job screen..

2.4 Shake Free Mode

Menu item 2.4 "Shake free" is for releasing the metering roller in case it has stalled.
If this function is activated, the motor rotates for a short time in clockwise and
counter-clockwise direction to remove the object blocking the roller.

- Navigate to menu item "Shake free". e
- Press "OK" to enter into the menu.

Alarms
Display settings
Wheel - no. of pulses
Empty tank
Correction factor
Hectare counter

L v | a | ] ] ok | ek

v ) A [ = 4+ | OKEsc

- Press "OK" to activate this function.

- Once the object has been removed, press "OK"
to stop this function.

- Press "Esc" to exit this menu item.

v = N 4+ JOK JEsc .

Page 54



2.5 Emptying the Hopper

Menu item 2.5 "Empty tank" is for discharging the hopper, for example if you wish to

clean it.

Navigate to menu item "Empty tank".
Press "OK" to enter into the menu.

The "OK" key toggles between motor OFF and

ON.
Press "OK" to activate this function

Once the tank is empty, press "OK" to switch the

motor off.
"Esc" to exit this menu item.

2.6 Correction Factor

Menu item 2.6 "Correction factor" is for entering a correction factor to the seed rate.
This factor must be calculated by the user considering various factors, such as grain
size of the seed. The value showing the actually deposited quantity is not affected by

the correction factor.

Navigate to menu item "Correction factor".
Press "OK" to enter into the menu.

Press "OK" to enter into the menu.

Enter the correction factor in % by pressing
"+" or "-" or by turning the DigiPot.

Press "OK" to confirm the value entered.
Press "Esc" to exit this menu item.

Joff -l wertricdiler

Display settings
Wheel - no. of pulses
Shake free

Correction factor

Hectare counter
L v | a | | | ok | f‘ack]

viAN=HN+4 LOKJNEsc

Alarms

Display settings
Wheel - no. of pulses
Shake free

Empty tank

Hectare counter !
| v [ & T ] T of Jhoch]

v ) A} =} 4+ |OK}JEsc

Fig. 48
.".ﬁ,m;;m?n

&ﬁ'u‘g’inﬁ f-l:hr

eee

v, A — | 4 0K Esc

Fig. 49

Page 55



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

2.7 Hectare Counter

Menu item 2.7 "Hectare counter" displays the total amount of area cultivated (in
hectares).

- Navigate to menu item "Hectare counter”.
- Press "OK" to enter into the menu.

Alarms
Display settings

Wheel - no. of pulses
Shake free
Empty tank

Correction factor

- The total area cultivated in hectares is displayed.

Fig. 51
- To reset this value press the keys ﬂ, "-"and "OK" simultaneously.

Page 56



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

3 Test
1 Input 3.1 Simulation > 3.1.1 Speed [kmh]
2 Splecial 312 Simulatlion (ON/OFF)
3 T|est
4 Sletup 3.2 Keys > 3.2.1 Key test
5 Setup Haltzenbichler
3.3 Inputs > 3.3.1 Sensor-motor
332 Sens|or-wheel
333 Sen'sor- tank
334 Ser!sor— belt
3.3.5 Ser'lsor—fan
3.4 Battery wltage »  3.4.1 Supply voltage [Volts]
342 Terr[perature

3.5 SW Version

> 3.5.1 Version SW

3.5.2 Version JVM

3.5.3 Version JXM




3.1 Simulation

Menu item 3.1 "Simulation" is for carrying out tests. Motor and metering roller are
operated independently of the machine. To be able to use this feature complete the
following steps first:

e Set the working width

e Create ajob

e Calibrate the seeder

- Navigate to menu item "Simulation". P et
-  Press "OK" to enter into the menu. i

Simulation.
Keys

Inputs

Battery voltage

SW version

Vv XAK=—X+ NOKJKEsc

- Set speed by pressing "+" or "-" or by turning the
DigiPot.

- Press "OK" to toggle between simulation "OFF"
and "ON".

- Press "Esc" to return to the Job screen

- On the Job screen "TEST" is displayed to
indicate that the test mode has been activated.

- Press "OK" [AUTO] to start the simulation.

- To stop the simulation navigate back to menu
item "Simulation" and press "OK".

- Press "Esc" to return to the Job screen.

3.2 Keys

Menu item 3.2 "Keys" allows you to check the keys for proper functioning.

Page 58



- Navigate to menu item "Keys".
- Press "OK" to enter into the menu.

Simulation

TInputs
Battery voltage
SWoversion

v, A — ) 4 | OK) Esc

- On the screen "Test — Keys" the state of the six
keys is displayed.

- Press any key to test it for proper functioning.

- As long as you press the key, "Pressed" is
displayed and a beep comes from the
loudspeaker.

- Press "Esc" to exit this menu item.

3.3 Input
Menu item 3.3 "Inputs" allows you to check the sensors for proper functioning.

- Navigate to menu item "Inputs".
- Press "OK" to enter into the menu.

Samilation
Keys

Battery voltage
SW version

- The screen "Test — Inputs" shows the state of the
different sensor inputs.
The sensors are by default negative switching,
i.e. "0" means "active". If no sensor is installed,
"1" is displayed (or vice versa if the sensor is +
switching).
You can check the sensor for proper functioning
if you turn the wheel, cover up the filling level
sensor or turn the metering roller.

- Press "Esc" to exit this menu item.

3.4 Battery voltage

Menu item 3.4 "Battery voltage" allows you to check the supply voltage coming from
the tractor.
Page 59



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

The battery voltage should be between 10 ... 15 volts. If the voltage is below 10 V
DC, check the tractor battery. This menu item lets you also check the device
temperature.

- Navigate to menu item "Battery voltage".
- Press "OK" to enter into the menu.

- Check the supply voltage and the device
temperature.

- Press "Esc" three times to return to the Job _
screen. “itate

Temperature

3.5 Software Versions

Menu item 3.5 "SW version" shows the version numbers of the installed operating
system and application software. You will need this information if you intend to
update the software.

- Navigate to menu item "SW version".
- Press "OK" to enter into the menu.

-  Press "Esc" to exit this menu item.

Version SW 0.01.0.05
Version JVM  1.16.1.0
Version JXM  0.01.0.16

Fig. 62

Page 60



P | W 4

AUSTRIAN-AGRO-TEGHNIK

4 Setup
1 Input 4.1 Time/Date 4.1.1Date
I [
2 Special 4.12Time
3 Test 4.1.3 Go/Set
4 Setup
Biseiupliazepbichler 4.2 Language 4.2.1German
|
4.2.2 English
|
4.2 .3 French
4.2 4 Russian
4.3 Type of sensor Sensortype (Wheel/Radar)

4.4 Software update

4.4 1 Software update

4.5 OS update

4.5.1 OS update

4.6 Factory settings

4.6.1 Reset, withoutjobs

4.6.2 Reset, incl. jobs

Page 61



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

4.1 Time/Date

Menu item 4.1 "Time/Date" is for setting the time and date. The date format is
"DD.MM.YY".

Navigate to menu item "Time/Date".
Press "OK" to enter into the menu.

Language

Type of sensor
Software update
05 update
Factory settings

To set the time and date press "+" or "-" to switch
from "Go" to "Set".

29.03.11
17:06:25

Press "OK".

Tuesday
29.03.11
17:06:28

- Press "+" or "-" or turn the DigiPot to change the
highlighted value.

- Press "OK" to confirm and jump to the next
value.
You can also navigate through the values by

pressing the arrow keys O o

| ¥ | & [ - ] + | o [rack]

vViAN=N+ LOKJEsc

Fig. 66

Page 62



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

- Make all necessary adjustments and go to the
field "Set".

- Press "+" or "-" to switch the value to "Go".

- Press "Esc" to exit this menu item.

[ % [ & | - [ + [ ok Joeck]

VEAN=HK+4 JOKJEsc

Fig. 67

4.2 Language

Menu item 4.2 "Language" is for selecting the language of the user interface.
The user may select one of the following languages:

German

Englisch

French

Russian

- Navigate to menu item "Language". @M Aemiter
- Press "OK" to enter into the menu. -

I |
LW T & 1 T ] o o]

v | A =} 4+ [OKJEsc
Fig. 68
- Press @ or B to select the language. | nETL
- Press "OK" to confirm your selection. ET—

A [ — — S LS

¥ A =—| 4  OK) Esc

Fig. 69

4.3 Type of Sensor

Menu item 4.3 "Type of sensor" lets you select the type of sensor used on the seed
box, i.e. radar sensor or wheel-driven sensor.

Page 63



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

Navigate to menu item "Type of sensor".
- Press "OK" to enter into the menu.

- Press "+" or "-" to select the sensor type.
- Press "OK" to confirm your selection and to exit
this menu item.

OK  Esc

4.4 Software Update

Menu item 4.4 "Software update” lets you update the application software of your
computer.

- Navigate to menu item "Software update".
- Press "OK" to enter into this menu item.

05 update
Factory settings

OK /Esc

- Plug a USB stick into the USB port at the bottom
of the on-board computer.

Fig. 73

Page 64



- Follow the instructions on the screen.
Key assignment: 0 - F1; ""=F3. Ty

1. Connect a volume
. Reboot the device

Note: - Press ana hova 1+ 3
Make sure that the USB stick is plugged in until the e
following message appears "Update successful,
reboot system".

Make sure that during update process the power
supply is not interrupted.

4.5 OS Update

Menu item 4.5 "OS update" lets you update the operating system of your computer.

- Plug in the USB stick with the new OS.
- Navigate to menu item "OS update".
- Press "OK" to enter into this menu item.

[Setup
Time/Date

Language L
Type of sensor

‘Factory settings.

v, A = 4 OK|JEsc

- The message "Ready" appears on the screen.

- Press "OK" to start OS download.

- The bar on the screen shows the progress of the
download. Under it the progress is shown in
percent format.

- When the message "Ready" appears on the
screen, the update process has finished.

- Check the new version under 3.5. "SW version".

Note:

Make sure that the USB stick is plugged in until the
following message appears "Update successful,
reboot system".

Make sure that during update process the power
supply is not interrupted.

Page 65



P J V4 - ! _ .
AUSTRIAN-AGRO-TECHNIK

4.6 Factory Settings

Menu item 4.6 "Factory settings" lets you reset your computer to its as-delivered
settings. You may choose between two options:

e Full reset including all job settings

¢ Reset without deleting the job settings

- Navigate to menu item "Factory settings". @H T =rbintler
- Press "OK" to enter into this menu item. Ty

Time/Date
Language
Type of sensor
Software update
05 update

- Press 8 to select an option.
- Press "OK" to confirm your selection and to exit
this menu and return to the Job screen.

5 Setup Hatzenbichler

This menu is for service purposes only and is not accessible to the user.

Page 66



AUSTRIAN-AGRO-TEGHNIK

6. SPARE PARTS ,,ON-BOARD COMPUTER®

ON-BOARD COMPUTER COMPLETE
item code: 1918030009

item code item number | designation
1918030009 1 on-board computer

Page 67



item code item number | designation
1918010003 1 leveler sensor
1918030011 2 cable set for Air 16 without senosors
1918030007 3 belt sensor
a motor connection
b blower connection
c belt sensor connection
d radar connection
e leveler sensor connection
f computer connection

Page 68



P V4 - / _ s
AUSTRIAN-AGRO-TECHNIK

EXTENSION CABLE FOR AIR 16

item code item number | designation
1918030010 1 extension cable for Air 16

Page 69



